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(2).

GROUP —-A

Answer any five questions : ‘ 2x5

(a) Distinguish between compensated demand
curve and ordinary demand curve.

(b) What will be the shape of the LAC curve if
there is increasing returns to scale ?

(c) What are the salient features of perfect
competition in the market ?

(d) What is Veblen effect ?

(e) Define externality in production.
(f) What is law of variable proportion ?
(g) What is expansion path ?

(k) What is elasticity of substitution ?

GROUP - B
Answer any three questions: - 5x3

Show the relationship between price, total
expenditure and elasticity of demand.
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3. Explain the Weak Axiom of Revealed Preference
theory. - :

4. Show that the consumer purchases only one good
in equilibrium when indifference curves are
concave to the origin.

5. Why does Average Cost curve is U-shaped ?

6. Distinguish between Arc elasticity and Point
elasticity of demand.

7. Explain the economic significance of intercept
and slope of budget constraint.

GROUP — C

Answer any two questions : C10x2

8. Giffen goods are inferior goods but inferior
goods are not necessarily Giffen goods. Explain. 10

9. Draw the long-run supply curve of a constant cost
industry under perfect competition. 10
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10. Differentiate between the Hicksian substitution
effect and Slutsky substitution effect. Hence
explain the difference between the Hicksian
compensated and Siutsky compensated demand

curves. 6+4

11. Explain the properties of isoquant and discuss
the conditions of output maximization with

respect to cost constraint. 446

SECOND HALF

( Economics)

[ Marks : 45 ]
GROUP —-A

1. Answerany five questions: . 2x5

(a) Define Keynesian c;onsumption function.
(b) What do you mean by GNP deflator ?

(¢) Whatis Okun's Law ? '

(d) What is money multiplier ?
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(e) How will yod get national income from
GNP ?

(f) What is the difference between autonomous
 investment and induced investment ?

(g) What is 'fiat ' money ?

(h) What is speculative demand for money ?

GROUP - B

Answer any three questions :  5x3

Explain how transaction demand for money
becomes interest elastic. :

Consider the model :
SO=1@)
S =002 Y1)
Y(9) =2 k(¢) and I (o) = 100.
Find the time path of investment.

What is regressive expectation in the context
of demand for money ?
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5.‘ Discuss the difference between :
(i) GNP at market price and GNP at factor cost.
(i{) GNP and GDP.

6. Whatis the value added method of measuring
National Income ?

7. Show that money supply may depend on interest
rate.

GROUP -C
Answer any two questions : 10x2

8. How does the lifescycle theory explain the

short-run variability and long-run constancy of
APC?

9, Show how commercial banks create deposit.
What are the limitations to such deposit creation ?

10. Following Tobin's portfolio balance approach

describe the portfolio selection of an asset
holder who is known as risk diversifier.
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11, Discuss how the investment decisions are taken
on the basis of Present Value Criterion (PVC)
and Marginal Efficiency Criterion (MEC).
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